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e AFQI(sin) |2 AFQ!(cos)| EHEI E (tan)
14° 0.2419 0.9703 | 0.2493
15° 0.2588 0.9659 0.2679
16° 0.2756 0.9613 0.2867
17° 0.2924 0.9563 0.3057
18° 0.3090 0.9511 0.3249
19° 0.3256 0.9455 0.3443
20° 0.3420 0.9397 0.3640
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(r+15)(r-2)=0
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~AB=12, AC=5
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20D = 72 - OD = 36

OD:0C=+V2:1=36:0C
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20B = 186 -~ OB=96

OB:0A=+v2:1=9v6:0A
V2 0A =96 -~ OA =93




22. o2 187 ZE AABCE FA (& 307
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AAOB 94 AO:BO = V3:1
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AH =10+ 6V3cos30°
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O3 Zo] AB = 20cm,BC
230m,m = 13cm, DE = 3cm
AABD, AADC 9] Y-S 18
o] T ¢o] gt A E oA g uf, CG

&S

of Zoji=?

@ 2cm @ 2.3cm @ 3.8cm

@ 4cm ®)5cm

~&B

CG = xcm 2} 5}

AG =13-x=AE = AF,

BF =20-(13-x) = 7+ x = BH,

DE = DH = DJ = 3(cm)

w2bA], BC = (7+x) + 34 3 + x = 23(cm)
sox=5(cm)




